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Ax| 4 8:05 | RUN |#21 g3 45 | K |#28 ER G 35| 14
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BAKE
Q | BASEESRS | R TESR | RARM [ ATL— BltetIE |JL—%| FO¥ | RTHEE L2 AP={S
1]12:00 | 10:11 | 1:49 ko | B-25| 4 | o |B-33| PUNT 8
3:55 2:35 | 1:20 | PUNT | B-20| 5 | 1 | B-38 | PUNT 18
1:36 0:04 1:32 KO B -28 4 0 B -34 PUNT 6
2 | 11:00 9:57 [ 1:03 | PUNT | B-42| 3 | 3 |B-0 ™ 58
8:31 8:23 | 0:08 | PUNT | B8-37 | 1 | 1 | B-0 ™ 37
6:08 433 | 1:35 | PUNT | B-30| 5 | 1 | B -4 | PUNT | 21
0:50 0:11 | 0:39 ko | B-25| 7 | 1 [ B-4| PUNT | 21
3| 5:14 3:37 | 1:37 | 4powN | B-31 | 4 | 2 | B®-o0 ™ 69
2:40 000 | — | PUNT | B-42| — | — | B-7 - -
4 |12:00 | 10:04 | 4:36 - Bm-7 [ 10| o |[®m-o0 ™ 58
9:36 8:21 1:15 PUNT B -30 4 0 B - 31 PUNT 1
5:22 3:55 1:27 4DOWN B -33 4 2 B -0 D 67
2:19 1:17 1:02 INT B -20 4 0 B -29 PUNT 9
K
Q | BUSEESR | R TESR | RARM [ ATTL— BitetrE |JL—%| FD¥ | RTHEE R Y=k
1 (10:11 2:35 7:36 PUNT BH - 19 15 4 B -39 PUNT 42
2:35 1:43 0:52 PUNT Bf - 34 2 1 B -0 D 66
0:04 0:00 -— PUNT Bf - 25 - - Bf - 23 - -
2 112:00 11:00 1:04 - Bf - 23 4 0 Bf - 22 PUNT -3
9:57 8:31 1:26 KO B - 25 4 0 Bf - 30 PUNT 5
8:15 6:08 2:07 KO Bf - 27 4 0 B9 - 30 PUNT 3
4:33 0:56 3:37 PUNT Bf - 27 11 4 BH-0 D 73
0:11 0:00 0:11 PUNT Bf - 14 1 0 Bf - 14 END 0
3 |11:55 514 | 6:41 ko | ®-17| 18| 4 | B-31 | 4powN | 52
3:37 2:40 | 0:57 ko |[®m-25] 4 | o | ®m-26] punt 1
4 | 9:58 9:36 0:22 KO B - 24 4 0 B - 24 PUNT 0
8:21 5:22 2:59 PUNT B - 21 9 2 B -33 4DOWN 46
3:48 2:19 1:29 KO B - 30 8 3 B - 31 INT 39
1:17 0:00 1:17 PUNT B - 29 8 2 B -42 END 29
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Q| No |fzi TOGO|PLAY PLAYERS Y—F| 8 No |#zf TOGO| PLAY PLAYERS Y—F| #R
1l 1|8 29 | 6 [PASS| BiF — &HH | 4 | x 1|88 41| 7 | PASS m - HF 9|0
2 (B 38 | 8 |PASS| EiE — — | x 2 |B 28| 6 | RUN | =l 5 | x
3|8 34| 4 [PAss| BEE - - | x 3 (B 39| 27 | PASS [ - x
2| 4 |8 49 | 5 |PASS| ®iE — - | x 4 (B8 23| 8 | RUN | ZJII -1 x
5 |8 25 | 10 |[PASS| ®# — k& | 12| O 5 (83 31| 4 | RUN [ st -1 %
6 |B 46 1 [PASS| ®iE - — | x 6 (83 32| 5 | RUN ] -2 | x
7| 28| 9 |PASS| B — WK |18 O
3| 7 [\ 12| 1 |RUN| BB 5| O 8 (B 5| 1| RUN [ /g 2|10
4 8 |8 9 9 [PASS| B — ME | 8 | x
9 |B 31 9 [PASS| ®HE - - | x 9 (88 26| 1 | RUN | =) 0| x
0|8 27 | 3 |RUN| @& 2 | x 10 |83 39 [ 1 | RUN ™ 3|0
11|B 40| 4 |PASS| B - — | x
12 (8 31| 10| PASS| @ — — | x
13|88 26 [ 9 | PASS | H#t — - | x
14 |88 24 | 10 | PASS | & — - | x
15 |83 35 | 10 | PASS | #4f — &E# | 35| O
16 (B8 30 | 10 | PASS | ¥t — fFEE | 6 | x
17 |83 48 | 5 | PASS | & — —| %
18 |A 42| 10 | PASS | &ff — —| %
mg | 10 [mmm| 2 [mms] 2004 ma | 18 [ mmm [ 5 [mmm] 278
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Q| No |fzi TOGO|PLAY PLAYERS Y—F| 58 No |#zf TOGO| PLAY PLAYERS Y—F| 58
4 1 (B 1 1 [ RUN | H#8 1| © 1 (B 23| 1 | RUN | /MR 2|10
2 |8 26| 1 | RUN | /MR 410
3 (B 40| 4 | RUN ] 9 | O
4 (@ 31| 10|PAss| @ — — | x
5|8 24| 4 RUN At -9 | x
6 (83 48| 5 | RUN [ eh#t 10| O
me | 1 [mwm| 1 [mm=] 10004 ma | 6 | mwm [ 4 [mmm] e
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Q| No | TIME RAI%& r—K No | TIME A% r—K
1 1 1:31 | FI94F 5 1 4:43 |SRAVB—T 7S VR (F4TTVR) 15
2| 2 2:34 K=V FLTFINL 15 2 | 0:04 |B#EASOTOYVY 10
3l 3 141 | F 794 F 5 3 6:29 |R—LTF1Y 10
4 4 3:65 [ZHNARRE—F 5
5 3:08 [SRA2HB—=TIFSVR (F4TTVUR) 15
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S EBHES D




